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Practice A

Solving Compound Inequalities

Graph each inequality, and then graph the compound inequality.


1.
x  (3
2.
z  0
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x ( 4

z  2
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intersection: x  (3 AND x ( 4

union: z  0 OR z  2
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Write the compound inequality shown by each graph.
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3.

4.


Fill in the blanks to solve each compound inequality. 
Graph the solutions.


5.
n  5  2     OR      n  5 ( 9
6.
(11 ( 2x ( 1 ( 1



( _____ ( _____     ( _____ ( _____

(11 ( 2x ( 1    AND    2x ( 1 ( 1

       n  _____    OR         n ( _____

 _____  _____                  _____      _____
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   _____ ( 2x        AND           2x ( _____ 





( _____ ( _____                 ( _____     ( _____




   _____ ( x        AND                x ( _____
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Write a compound inequality for each problem. Graph the solutions.
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7.
To relieve arthritis, Dr. Stoll recommends taking 
_____________________________________
between 400 and 600 mg of ibuprofen, inclusive.
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8.
An advertisement for a part-time job says that the 
_____________________________________
hourly rate is between $6.40 and $9.80 inclusive, 
depending on experience.

Practice B

Solving Compound Inequalities

Write the compound inequality shown by each graph.

[image: image14.jpg]+ o

Tog)

1 <

+ w©

¥ ©



[image: image15.jpg]~dr—r—r—t—T T

-18-17-16-15-14-13-12-11-10-9 -8 -7 -6




1.

2.
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3.

4.


Solve each compound inequality and graph the solutions.


5.
(15  x ( 8  (4
6. 
12 ( 4n  28
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7.
(2 ( 3b  7 ( 13
8.
x ( 3  (3 OR x ( 3 ( 3
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9.
5k ( (20 OR 2k ( 8
10.
2s  3 ( 7 OR 3s  5  26
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Write a compound inequality for each problem. Graph the solutions.
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11. 
The human ear can distinguish sounds 
____________________________________
between 20 Hz and 20,000 Hz, inclusive.



12.
For a man to box as a welterweight, he must 
____________________________________
weigh more than 140 lbs, but at most 147 lbs.
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